8 7 | 6 | 5 ‘ 4 3 2 1
ITEM|PART NO. DESCRIPTION QTY. WEIGHT — o D;i’:ggil - —
1 MF12601 BASE SHOE 2 6959 LBS A . INITIAL RELEASE DRR 10/30/12
2 |WB-CY0510 SAFETY GRATING 5" X 10 1 30.21 LBS
3 |[PC-034 PIPE CAP 3-1/2" 2 0.66 LBS
4 |WBLB0501 5" WAVEGUIDE BRIDGE SUPPORT BRACKET 2 4.52 LBS
5 |GUB-4356 1/2" X 3-5/8" X 6" GALV U-BOLT 4 0.82 LBS
6 |WB-JB-6 1/2" J-BOLT 4 0.49 LBS
7 |GWF-04 1/2" GALV FLAT WASHER 4 0.03 LBS
8 |GWL-04 1/2" GALV LOCK WASHER 4 0.00 LBS
9 |GN-04 1/2" GALV HEX NUT 4 0.04 LBS
10 |ZBV601 Single 6 Cable Bracket 3 1.42 LBS
11 |[MT-387 SQUARE WASHER, 1-1/2" X 1-1/2" W/ 7/16" HOLE 6 0.11 LBS
12 |GWF-03 3/8" GALV FLAT WASHER 6 0.01 LBS
13 |GB-03205 3/8" X 2" GALV BOLT KIT 6 0.08 LBS
14 |MT-287 3/4" x 7" WEDGE ANCHOR 4 0.72 LBS
10' [3057] |
DETAIL A
SCALE1:14
— 14.3[362]
126 [3201.1]
al la al la Lal B DETAIL B
I P 1 1] SCALE1:8
T trougs o pccons re the gty prpry | e | o g " WB-K0510-S
purpose autherized in writing by CommScope Inc. — — —
N OTES ALL DIMENSIONS ARE IN INCHES U.0.S. TP NTS WAVEGUIDE BRIDGE KIT, 5"
TOLERANCES UNLESS OTHERWISE SPECIFIED: e VATERIAC DRAWING TYPE:
1. ALL METRIC DIMENSIONS ARE IN BRACKETS. e A
S 4 COMMSCOPE
REMOVE BURRS AND BREAK EDGES .005 A —
DO NOT SCALE THIS PRINT 195.70 LBS Hickory, NC 28602 US.A.
8 7 6 5 T 4 ! 3 ! 2 1




